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Elliott 803B  



Teletypewriter  



5-Hole Paper Tape  



Elliott Autocode  



Elliott Autocode  

JUMP IF A=B@K 





Linotype Machine  



Type and horizontal spacing  

ÅLetters in a proportional 

font have different 

widths (e.g. i and w) 

ÅLines can be ragged  

    (left justified),  

    they can be fully justified 

                   or right justified 

Å Inter-word spacing can 

be variable, thin, thick, 

or some combination  



Variable Spaces  

The spaceband is basically a wedge that 

expands the spaces between words   

 



Computer Typesetting  

Å  Set the width of the line 

Å  Add up the widths of the characters 

    in each word 

Å  Add the widths of the spaces 

Å  Determine if the variable spaces 

    will justify the line 

Å  Add thin/thick spaces 

Å  Letter space (thin spaces between letters) 

Å  If all else fails - hyphenate! 

 



Elliott Autocode  

M = 633 

 

L = 0 

 

L = L + C 

 

JUMP IF L>M @ Z  



But, thereôs a problemé 

 

 

 



But, thereôs a problemé 

 

 

 
00000 = 0 

11111 = 31 

 

 



But, thereôs a problemé 

aéz 

AéZ 

.  ,  ' @ ! éetc. 

 

 
00000 = 0 

11111 = 31 

 

 



But, thereôs a problemé 

aéz 

AéZ 

.  ,  ' @ ! éetc. 

 

  *  =  Shift 

 @ =  Unshift 
 

 *A@LAN = Alan 

 

00000 = 0 

11111 = 31 

 

 



$$$$ = Tab 

 

* @ =  Cap 

 

Space = Var Sp 

 

$ =  Thin space 

 



Left  

justified 

Linotype 

output 



Algol 60  



Algol 60  



Algol 60  



Programmers!  

Who says programmers donôt have 

a sense of humour? 

 



Whetstone Algol  

My favourite compiler error 

messageé ever! 

 



No 



VAX Mainframe  


